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QUESTION 1

A customer has two HPE 3PAR arrays which are using Remote Copy and AO. The customer notices a large portion of
the data is residing in the NL tier of the secondary array, while all tiers are utilized evenly on the primary array. Which
statement about the secondary array behavior is true?

A. The NL CPG in the secondary array is larger

B. This is normal behavior for AO

C. There is an improper AO configuration on the secondary array

D. AO should not be used with Remote Copy configurations

Correct Answer: B

QUESTION 2

A customer needs to new storage solution, including replication. The replication solution does not need to provide an
RTO or RPO of zero.

The customer suffers from severe VM sprawl and has experienced unidentified storage service-level degradations.
What should you point out during your presentation of the solution?

A. Hardware-assisted parity generation and deduplication mitigate the changing performance requirements

B. VMs are always individually visible to the array with automatic enablement of VVOL technology

C. InfoSight and VM details would help in identifying misbehaving VMs putting a high load on the array

D. When a storage system is being overloaded, the replication software will automatically move the workload

Correct Answer: B

QUESTION 3

Refer to the exhibit.
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Qty Product# Product Description
1 QOES2A HPE 3PAR 9450 2-node Storage Base with All-inclusive Single-system Software
2 Q7F41A HPE 3PAR 3450+5W Storage Node
8 QOES7A HPE 3PAR 3000 4-port 16Gb Fiber Channel Host Bus Adapter
1 L7F18A HPE 3PAR 9450 Data Encryption LTU
2 QOESSA HPE 3PAR 9000 2-port 10Gb Ethernet Host Bus Adapter
1 PIM30A HPE 3PAR StoreServ 20000 Direct Connect Cabling Option for Drive Enclosure
8 QOESSA HPE 3PAR 9000 24-disk 2U SFF (2.5in) SAS Drive Enclosure
64 QOF44A HPE 3PAR 9000 3.84TB SAS SFF (2.5in) FIPS Encrypted SSD with All-inclusive Single-system Software
16 716157-B21 HPE External 2.0m (6ft) Mini-SAS HD 4x to Mini-SAS HD 4x Cable
2 Q1HYI5A HPE 3PAR 1U Rack Accessories Kit
2 QK7538 HPE SNGOCOB 16Gb 48-port/24-port Active Fibre Channel Switch
48 QK724A HPE B-Series 16Gb SFP+Short Wave Transceiver
1 Q2513A HPE 3PAR 5StoreServ RPS Service Processor
8 QK734A HPE Premier Flex LC/LC Multi-mode OM4 2 fiber 5m Cable
2 Q9Y41AAE HPE Smart Fabric Orchestrator E-LTU

A customer is planning a new compute cluster. They require business continuity, and they need automatic transparent
failover between sites with an RPO of 0. You propose HPE 3PAR 9450 arrays at each site. The displayed Bill of
Materials

(BOM) shows the hardware and software components for one site.

What must be added to the BOM at each site to build the solution?

A. four additional HPE 3PAR 9000 4-port 16Gb Fiber Channel Host Bus Adapters

B. one HPE 3PAR All-inclusive Multi-system Software Suite

C. one HPE 3PAR Policy Manager Software license

D. two additional HPE 3PAR 9000 2-port 10Gb Ethernet Host Bus Adapters

Correct Answer: B

QUESTION 4

What is one of the advantages of protecting HPE 3PAR File Persona with RMC?

A. MS SQL data consistency is provided

B. Single file recovery is possible

C. Transparent failover is offered If clients are using SMB 3.0, even if you recover to another 3PAR
D. Backup throughput will be considerably faster than other backup methods

Correct Answer: D

QUESTION 5
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A customer needs to replicate the data on their HPE 3PAR arrays between their datacenters. Their datacenters are
250km apart. The link between the sites has an RTO of 100 ms, and they have an RPO of 3 minutes. Which replication
method should you recommend to meet the customer needs?

A. RCIP is Synchronous mode

B. RCFC is Synchronous mode

C. RCIP in Asynchronous Streaming mode

D. RCFC in Asynchronous Periodic Mode

Correct Answer: D

QUESTION 6

Which advantage is provided by HPE 3PAR Remote Copy across all replication modes?
A. support of all Remote Copy topologies

B. automatic recovery of array failure independent of Remote copy topology

C. Remote Copy support up to 100ms latency over all transport layers

D. all Remote Copy topologies yield identical RPO and RTO

Correct Answer: A

Reference: https://manuals.directutor.com/3COM/4AA6-2851ENW/index.html?page=9

QUESTION 7

How does the HPE Nimble Storage product strategy support a customer\\'s investment protection requirements for
today and the future?

A. by supporting replication with arrays from other vendors

B. by supporting the implementation of third party cache, spinning media, and flash media
C. by supporting replication between current and previous-generation array models

D. by supporting the repurposing of obsolete array controllers as high-density servers

Correct Answer: B

QUESTION 8
You are proposing StoreOnce as a new backup target.

Which features should you emphasize that will help the customer protect and recover data from external attacks on local
data? (Select two.)
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A. StoreOnce Catalyst stores are only accessible via the API
B. StoreOnce has firewalls to protect the repositories

C. StoreOnce is immune from ransomware

D. StoreOnce has malware protection

E. StoreOnce has encryption of data at rest and data in-flight
Correct Answer: CE

Reference: https://h20195.www2.hpe.com/V2/GetPDF.aspx/a00029785enw.pdf

QUESTION 9

A customer wants to enable an automated failover for their two existing HPE 3PAR solutions, which are located in two
different sites. Each solution has an All-inclusive Single-System Software license. Which component is required to
enable this function?

A. All-inclusive Multi-System Software License

B. Fibre channel Bridges to connect the disk shelfs

C. Additional HPE 3PAR system as quorum witness

D. Dark fibre connection between the sites

Correct Answer: A

QUESTION 10

Refer to the exhibit.
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A customer has the environment shown. They currently perform application-consistent daily full backups via Veeam

backup to an HPE StoreOnce device. These backups are then replicated to an alternate device using Catalyst copy.

Changing business requirements have mandated the RPO and RTO for the customer\\'s SQL databases be reduced to
15 minutes. Due to the size of the databases, it is not possible to meet this requirement with their existing backout

application.

What should you recommend the customer implement in order to meet their new requirement?
A. HPE 3PAR Remote Copy in Synchronous Mode

B. HPE RMC Express Protect

C. SPE StoreOnce Cloud Bank

D. HPE 3PAR Remote Copy in Asynchronous Streaming Mode

Correct Answer: D
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